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'6.- I you do notknow the answer to any duestion, do not spend much tlme on it and pass onito
7 nextong. If time permits, you can come back to the questions whichi y you have left out id
the first instance and try them agam R

7.  Since the time allgtted to the two parts of th}s question paper is very hmlted you should
make the best use of 1t by not spendmg too, much tune on any: questlon :
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- Dlrectmns Questmns (61 to 70)

Inéach'of the following questzons there are 4 ﬁgures Three of them are snmiar m a cenam way-
but one is not hke the othcr three Find out; Wthh one of the ﬁgures differcnt from other

. .
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| 109, H:igﬁly melliable metal among the givenimetaly

o ;.(_1).":11‘011 )

oz ) G

(&) Copper -







133 Ramu was glven ar mcrement of 10
"' Raniy before i mcrement is

(1) 2321750
(3) T3932.50

% on Ius saIary HIS new salary is ?3575 The salary uf '

@) 73250 _
(4)_?35__00_._.: :

20 x+2 x+10







' ECON OMICS
166 The Natzona[ Voters D&Y ise Jebrated T 176, Nldhi has a hundzed rupeg note: w1th her. She saw 2 promise on that o Wthh s
(l ) November 25 ; “1 prormse to pay- the bearer the sum thundred mpees” Who s1gns that promlse?
~- (1) The Finance Minister of Iﬁdla ' ' '
e '-(2) Thc Presuient of India

'Reserve Bénk Q Iﬂd[a

'-: 167, ThePres1dentofInd ap
= artlcle R

_(4) Nelther A B i COITGCt
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T ande even Zeros appearing in ths Centre Code No. are carrectly tr'ansferred to tha appropriate
o .blocks on’ _the OMRi Sheet as. shown_ i the_ example gwen in the OMR Sh eet For all
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Ifyoud el
you do not know the answer to any question, do not spend much time on it and pass on o

next
Xt one: Iftime permits, you can come back to the questions which you have lef outin
- Qutin

the first instance and try them again.

Since the time allotted to the two parts of this questmn paper is very limited, you sho id
u

make the best use of it by, not spendmg too much tlme on any question.

A biank page ig prowded for rough work at the end of each part.

. Remember, you haVe to shade apswers on a scpa“ ate OM" Hieet

NMMS(E)

Part -~ I MENTAL ABILI’IY TEST

’Iime 90 Mmutes ‘ Wax Marks 90 _

_ Nﬁte SHADE the correct altcmatwes in the OMR Answer S‘heet prov1ded from amongst the

ones given agamst the corresponding questions in the Ques’non PaperBookle’: For %hadmg_. o
the cucles, usc & HB Peucll : : .

' Dzrectmns~ Ques"'ons (1 te 1
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7‘ I 10 204 2I'7. '
E (1) 68 {2} 93 i (3)
_'.Dlrectmns Quesnons (11 to 20)

o The followmg questions aré based on sunp
- given under gach questlon Aﬁer 1dent1fy

1L 9999949999 4999 99 =7 . -
(1)) 11096 () 111096 | -(3)- 111196

12, 7184 64-214- 128 + 174 = 9 :
(1y 705 @) 613

lear Lthmetzc calcuiatlons There are four aItemanves
ing the nght answer, mdwate it as per Instructmns

(4) 110096

(3) 694 'h

(4) 674
o

 NMMS(E) -

13, 13.141 + 31417 - 27018 =7

. 16 \/ﬂx14 6><7+4x-182 'x'_ L

s u) '28
20 0009 ¥ 0 0(}2 = .? iy B

Directmns Questmns (21 to 30) : .

* Ineachofthe following (;uestwns there are a certain relatlonsmp between fwo given’ words on -
.. oneside of 1.+ and one word is given on another side of : -, while another word is to be:found o
- from. the given 4 alfernatives, having the same relatmn w1th th1s werd as the words of the glven__ L

R s e PR

- 21
| 22 Pen Statmnery Chau' 9T

23, Dam : Water: Godown P

C (1) 16.441 e 17.543 @) 1749 &) 17.440

o Jie
128 . 7 _ : _
Sy 12 (2) 144 3 14 : L (4) 196
15. %+32=54 ST . L e
_(z) 38

14.

5
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) 018 (z)'eooow" (3)':;;,6.'{)0_1.,3-.-' S __(4?')]'_(3-.0000'1;3_:'*

pan’ hmose the correct altematwes R R

) mtment Gnef '?

) sorow @ Adverélty @) Conslsion () P

C(1) Wood - 2y Rest

@) Reom. . (&) Fumitie
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24. " Crime : Cgurt::Di_seése:? ' _ : ‘ Y
(1) -Lawyer. (2) Punishment . (3):Hospital (4) Doctor. .

.25, Millionaire : Wealth : : Genjus : 9 ' R
{1} Capabiiity @) Smartness (3) Tntelligence (4) - Awareness

- 26. Page:Book'::Brick:? . o ST o
(1) Heap: C o (2) Bu_ilding © o (3) Clay-
. 27, Drmng Bus Flymg Y ' L

(2) Klte S @) Bird gy Actoplane "

S @ G @ R

©(4) Masen .

Armw ?

- m o

(1} . (2) E
(2) 2

o ma @ wa
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@2 '(3)'_3 w4
stions (51 to 66): - :

lven: 5 alternatwes when f Hed mto each other Would form a complcte square .

(2) (3) e (4) (5)

@ e {3) 2, 3, 4w 3,4,"5._-,.-.-""_:-" R

@ 23,5 ()Y 245 @) 1,45

1§-B

R =

G LS @ a3

| : _NMMS(E)

7&1‘1 |

U
{1)_1’4’5. (2) 2,3,4 (3) 245 : (4}153,5

W23 @ Le @ 135

118
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Directions: Questions (61 0 70 .
In cach of the following questions, the second figure in the first unit of the problem figure bears
acertain relationship to the first figure. Stmilarly one the answer figure bears the same relationship

to the first figure of second unit of problem figures you have to therefore locate the figure,
which would fit the question mark, _ S _ i o :

61. Probler Figures _
E G
el sl )
@ ®) O )
¢ AnswerBigures 0T a0

m >

o o 'X R i ax:‘_ .
L T ey

e e W s | .
m 1o @2 @) 3 @B A
63, PblemFigwes 0 T T

lamo| @

© O AnswerFigres U o
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e 00 517
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64; Problem Figures

® O O

Answer Figures

O e ®»3 - @

- 66. " Problem Figures.

e ®m e m
U AnswerFigures e

: (1) ;_?-.-(2} G -.(4)::..:._ : AT B
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67 Prolem F fgures

&

A B)
: AnswarF 1gures

4\ .:7 | L
,

(1) (2)

(3)

cl) 1o

(4)

(2) 2

e 3 Coww
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: 70 Problem‘fzgures

V1Y

(&) B)

= Answeergures

o 5-3 : Pr@hlemf‘zgwes'w '

. (3)3 Lo

A e 7'(1) 2

"69.. Problem Figures
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" AdswerFigres
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L T4 512,23 50, 141 N
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78 68,117, 61,124, 54, 2
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SPACE FOR ROUGH WORK -

S79010,5,5,10,40,- 9 .
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(1 350 @) 320

@ 30
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SPACE FOR ROUGH. WORKC Part I SCH@LASTIC AP HTUDE TEST

- Time : 90 Mmutes \'Iax Marks 49

Nate ¢ s .
iy Sub}ect QuestlonNo andMarics allotted

er_._She'ét ‘provided,
the Question Paper

.the correct altematzveq in: the OMR An
from ¢ amongst ‘the ones gzven apainst the correspondmg quesnons iy
Bookiet F or shadmg the cn’cies use a HB__Penc
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PHYSICS

_91. Whlch of the followmg system gives TN as resultant force?
. —--{:E: @ %

N T 71~“1 (4) __.:.7N...4_ i

L8 An object movmg ina cucular path and covered 374t dLStdnce e} the pe:rlmeter of the path o
1, ther, the ratm between chstance -

o reach from A and B If v {srading of the mrcular §ol
traveiled and d1splacement by the object betweenAandB i8] PR

L Mﬂ S @ E
wal ___(4) o

o4 When & glass rod is rubbed w1tha sﬂk cloth then charges depos;ted oty them resPectwely_' i .

as follows:

(B Pos;twe charge on s11k ng gatwc charge on glass rod
2) Negat;ve charge on silk, posmve charge o glass md
(3). - Positive charge on both - :

& Negatlvs charge on both

95.. The reason for hot air moves to upward, chrectlon because 1t
(1) Occupies larger place, density increases
(2). - Occupies smaller place, density ircreases
(3) Occupies larger place, density reduce
(4} OQccupies smaller place, density reduce

NMMS(E)

96. ’E;he intensity of the sound 1060, fimes more powerful than that total sﬂence is
{1y 1000 dB (2) 3dB (3). 60 dny My 309
97.. Whlchofthe followmglscaﬂedas “rain. gauge”‘? o o L
. (1) Udo mter 4(.2). Pluviometer (3) Ombrometer (4)- .A.li-t.he.above
s T me

2 v e,ﬁgur
~ _r‘?SPeG_ : ely Thera Whlch of the fol[o_ in e

'_ 101 Iu a house everyday they ‘are.using six, 100W:

6 hours ; f ve 40W biilhs

208

2i4B
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CH'EMISTRY | DR
(Cross-linked arrangement
103 When copperu‘[ensds are exposed to air, we ﬁnd greemsh coat on them; due (o reaction of ° 'mon-ome_l's).
. copper WLth '

{ i) oxygen oﬁly

st Tesenice of Oxyge agnesmm_ xidéin thel B

: g 0L Woad. form of powder: ashy whe'n it dxssolved nwater, a New substance iy formed Whaf is the .
Burning of camphor nature of this substance? ) :

) Burning of white phosphorous -+ ¢ (1) Aczdlc

1) :Evaporatmn bf camphm pIaced on a open tray
: '}De" osmng of‘ emetalon another rneial
(1)_ - A i il -'_cf '_.1v b
S T T2y idd. u“c fii-a:ivih
: : A S ) A e b Civea
. Iammefabnc ,‘ S ,( G ad
_(4} Fuclnenweardrf:ss is made o.fme = _ @ ee g e ivib

2%-B

238
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'-BIOL‘OGY” St L T I o MATHEMATICS
114 Thehuman sperm gcts energy for it motlhtyfrom REENTE S R : 126. Two Daﬁlralnumbersar
R AR N esuchth ti
(I} Head (2) Mitochondna (3) Neck - ) "..'('4) il B Theproductofthetwonumhersalsbel?

' prod_uc__t_, sum and_di_fférgnde are in the ratio 34:7:1.

(3) Pulses (4) R1ce

125 Root nedules of 1egummosae famﬂy plants ccmtams an orgamsm called Lt
() Plasmodium: (2) Pemcﬂhum (3) Rlnzobmm (4) Clostrs.dlum

o
o™

24‘;.;5}3;, ‘ sl
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‘,133 Fromtheﬁgure E*‘L_—
1y 116° :
() 1200
@ 990 ©
(4.) g

f ' 134 A certam amount of marbles are gwen 10 three §
e \ al of 315 miarh les then the marbles received: by R

. 13-’.";":.Theﬁmseé'r_i'of 5 nuzﬁﬁérg' 1s '2':7',‘.11“. one iﬁére ﬁﬁfﬁber 15

@35 -’32_ S wr

139 Sonu § father is thnce as old as Sonu After 12 years hc wﬂl be ]ust tw
Then thc Sonu s present age is (years) '

e @ (3) 15 i"* won

NMMS(E)- :

. 140 Arectangularlawnlswmb

yZOm Ithastworoad | ' s
itas shown in the ﬁgur e. Then the area of roads is | seachm wxde I’Unmng nthe imdd]e_,‘of_ o

(1) %6m? . i L 2fn': :‘:-

@) 100m S TR T
L (3) 600 m? : S
(@) s0am2 S R S

. included thon the mean is 25, The

ice his daughter.

27R
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HESTOR‘Y

146. Who among the following was not one of the ‘Astadiggagas"’

(2) . Ayyalaraju Ramabhadmdu .

(1 RmnaraJthushana
: (4) PavulunMallana

£33 ngahSurana

147, The 1as.t MughaLE

mperorwas: ar
e (2) JahandarShahZafar T
LAy BahadurShahZafar AR

goddess mshumbhasudlm was bulitby

153 Atemplef{)r I e
' : 2 (3): Rajendral 4 (4} Rajarajal

ful stfeet ﬁ.ﬂl of fme houses

evering youhave a fairwhere they. selt horses; fru
was th1s about V1] ayanagaa C1ty‘? S
SO “Abdul Ragaak (4 i

1 55. Wthh of the followmg ¢
1 p o ’ 1
- (I) 2 to watt and 2 tor Boulton st (2} to watt and - to Bouiton

(3) to Boulton and 3 fo watt_ RSP O ) Zto Boulton an_dztowatt ‘

j: NMMS(E) |

GEOGRA}?HY

15 6 The day which is called an equinox is:

(1) March 21 (2} September 22 (3) une 21, ‘@) Decemb »
er

15 ; In, hlc Ofthe follo lng p g h tO IlO] th Wlth I'efe
W ] W SetS me the laces aIIan ed fIOIIl Sf}ut fencﬁ

to their location? . . _ _
(1) Nigeria, France Arct1cTundra . - Arctio Tundra:

(2) " Africaand Australia
(4) Europe and Afm(;a

“arid these Houses belong o

£ ribiés and diamonds: and clothes of every: .} -
ivegetables, :

ic olo Con’u .' '

(2) ngérm . (3')' Egypt S

as the d1v1smn {)f share i proﬁts between i ames Watt and Boultorz” i

{1). Lowiifna;i;lal ramfal} is 110 cennmeters then 1t W1H. be cons1dered as
2
(3) ngh ram fall gdri ii?;lil;a; :szzl[l
in

28 - B

29-B



mLImCAL SCIENCE

166, InIndiz, who among the foliowmg Nfare elected d;recﬂy? .
BGY) President S (2) ' Members of Lok Sabha:

(3) che Premdcnt _ D (4)) Members of Ra]ya Sa‘oha
1 67 Uttar'Pradesh ey 80 Lok Sdbha commuencms WhilE: Megha%aya has only two Lok Sabha :

17 1 Durmg national emergency, the term of Leg_zsiatlve Asseiti oy
(1) 3 months ' 1§ (3) -9 months

: 174 The Premdcnt of Indla appomts the C‘mef Electmn CD!‘m‘meiQﬂGr under th
Carticles ’
LTy 324(2) (2) 324{4)
"175. The sen‘ience “May God profect ¢ om’ peop}e” is wntten ini the preamb [e of coustlmtion of
(1) 'India “2y Amencci 3 Japan’ {4) South At'nca :

(3) 324(6) (4) 324(8}

30-B
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ECONOMICS

176. gjhi_(?h constitutional article ment_i()ns about ‘Right to Work??
41 ' ' :

| @ 20 (3) 19 (4)' 17
- 177 Florhowmanyhours does apapermlllmn mada,y‘? '
Ly 2y L) 1‘5 (4) 24

! szder the followmg Statements
- below: ¢ i _ and seiect 'ﬁhe COITect answar usmg the code glven

A) Public Transport can help n reducmg pollunon o :
4Use of h.elmets and seat belts canl avmd rnany hfe nsks

- the sum of hunid ed rupe

'Who 31gns that pr@m:s' 90

hof the follow nglls the most; iny = e
. 4 ponant contributor {6 pove s
1 . P rty anndlaf? o
53; iﬁ?ﬁﬁgg fhe people (2) Lack of regular employment
"ﬁ - PR n o (4) Givmg lmportance to agncu}ture

31-8

T, '._Sh¢ saw a prpmlse o that note whwh SaYs, e -
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“and evenZeios appearing in the.Centre Code No. are correctly transferred to the appropnate: .
: 4blocks on the OMR Sheet as shown in-the exampie gwen in: the OMR Sheet For all o

before begmnmg t_ _ answer 1t

3 Begm wzth the ﬁ:stquestlon and keep trymg one quesuon aﬁer another il you ﬁmsh "ooth E
. the Parts .

- Contd...

32.C
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6.'

: "_A biank page 1§ provided for rough work(at th.e endof eaéh part. -

Ifyoudo natknow the answer to any guestion, do not spend muich time on it a0d pass on to
_ niext one. [f time permits, you can come. back to the questions which you bave Ieft out in

the first instance and try them again.

Since the time allotted to the two parts of this question paper is very limited, you should
make the best use of it by not spending too.muchime on any question.

' Tlme 9{)Mmutes Lo - 1' : Max Marks 90_,”-

_ ‘Nete : SHADE the correc‘t altematzves inthe OMR Answer Sheet provlded from amongst the' .

NMMS{E)

Part - I MENTAL ABIL}LTY TEST

ones givenagainst the Gorrespondmgquesnons mthe Questlon Paper Beoklet For shadlng L
: the cmles use 2’ HB Pencil e L e s :

CwiLnz @ 235 @) aas @ Las
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1= & [7[.

(“ Las (2) 234

@ﬁ

.(3) 245

()

S &

'-"-(3) 23 s

) 1,35 '_ '

@) s

\ W

(1) o | (3}

T

e .r_z*,';sg,; i

(5) i
(4) 2 3 4:;‘"

(2) : . .(_

| (1) 1,_2,3_ (@) 13 4

@

| NMM.S(E-)

oo

Birections: Questions (11 .to 20):
Ineach ofthe following quéstions, the second figure in the first unit of the problem ﬁgurc bears

* acertain relationship to the first figure. Simitarly one the answer figure bears the same relationship

to the first figure of second unit of- problem ﬁgures you have to therefore locate the figure, .
which would fit the question mark. . .

11. Problem Figures

4 w' B A

_'AnswerFlgures i D

M1 oy (3) 3, (4).:4._. S

13, ProblemFigwres - ..

._AHSWGI’Flgu'rgS—_' e T

L3y L3S

OO

®

@

Fests

5.C

e @
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14, : ProblémFigures

. AngwerFigures

wE) O

. KoswerFi

'.'»' R .

16 T

Pioblem Figires 14

w0

s

L &

BEC R o

o .'(2') _ (3) .‘_('4) e

G &3 5 .(-.4) .

. NMIMS(E)

17. Problem Figures

A A
VOYY,

Ty ®

. AnswerFigures .

.

)

A

T e e @ e
@2 e

[T e k5 .' '

<0z

19, ProblemF igﬁres ,

mWef_Figlmes L

Tm e

®

: o 2

‘ (1}.-1 R
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: 20.: Problem ?igurss

RIFANIE

@B O D

Answer Figures

NMMS(E)

30 8,7,12, 2 128,635

S Dlrectmns’ Questmns (31 to 40) o T .
Co T these questlons there are equatlons that have become wrong du > 1 mcorrect order of mgns
* Tronvthe: four altematwes' i ' io
- Bécame correct :

4075,12,23; 50, 141, 2

(1)'. 415" = (2 430 _

36 9 9i9xg

254 11 19, 41, ' 161~_f._’f:-:'--

(3}

439 . .

29. 10, 5,5,10,40; _ 7

(1) 350 - 2y 3200 B (3)'- 360 : ”('4). 370

(1) 42° @

. (3) 33 o (4')"i,.2_6.-

1 below, find out the corfect order of signis: Sotha

e

269 5.6, 105 23,
e

i

GY 70y e

27, 1,20,58,134, 286,
1y 6007 (2) 590

@)

@)

28,68, 117,61, 124, 54,

@)

5 @

3¢

YA (2) 121 g

Psp

Womaee
Sy m _(2)_' TE A T BY g

40 :196 S13413=27

9-C
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. Directions: Qmstmns {41 te 50)

Ineach of the following questions, a set of figures carrying certain characters is giver. Assuming
that the characters in each set follow a similar pattemn, find the missing character in cach case.

S

W [T
1311271 26

= @ s W

ew @ e

e

@) s6 @ 92

10-C

47. : _.

(1Y 4L E ey 3T @ 29 (4)25

g -§_'91999+9999- '99§-}3'99"i"¢'-'-"---
o ,_-__(1;) 11096 (2) 111{)96

c 55:;....?3“!-32 54
S (1) 318
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| N_MMSZE}

- . . : . . 68. Builet:Riﬂe::Aﬁ'ow:_?'- S ‘ R
J?x14_6x_7+4x:132,x=_ o : e ) (1Y Archer - (2) Bow ‘ (3) Target ~ (4) Cord
‘ (y 1 . @ 3 (3) 4 w2 . 4. 69, House: Mason : : Furniture : 2 - e T o
' 57.'.'496%0.6xO.5=?{approxin1ateiy)- | : R ' (1) Wood . (2)' Chair () Tble (4) Cempentor . -
) 413 () 595 , (3) 1.4_8_ @ 63 70 Needle: Thread : Pen O
..5'8.::151011-4i9999+649991—? BT T SR 2 Ink '. (3)_.Cép"' (4)2.5-%11'
'3'-'.‘_(1) 381_003 (2) 420 103 (3) 3583 0 (@ 4103. L4 Dircetions: Questions (71 fo 80); T
_ o e e S e N '_:__:',Inthesequestlonsaﬁgur '(X)1sgwenw1ththreepartsandfourththha’?mark

__fr..Pen Stmnw iy EET AT TR
(1) Wood -+, (2). Rest . (3) Roam . . (4. Fumire . -
63Damwater Godown 7 T R T

64, Cnmex_Court Dlsease T M TR
Ty Lawyer (.2) Pumshment (3)}__Hojsg_ita1;._ 4y Dagtor o

65, .'_'Mxlhonalre Wealth Gemus YR S L T
Ty Capabllty = (2) Smarmess - (3) Intelligence”(4) - Awareness:: .

:6._.6."'Page Book Brzck 9 : . 3 S o R

RN 09 Heap ' (2) Bm[dmg - (3) Clay - " . (4)  Mason.

67, Drzvmg Bus Flymg 7 s R _ o co L ! _ . ) N Coenl _ T PR
1y Al (2) K1te . (3) Bird @) Aeroplane W1 @) 2 B R S

B L2 [ R t

@ e
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Directions: Questions (81 to 90): :
In each of the foliowing questions, there are 4 figures. Three of them are snmla1 ina certam way
but one is not like the other three. Find out, which one of the figures. different from other.

81.

e e e
) B R I L )

i 4

(1) -j(ﬁ-}:' (3) " Ay - S U

e 6@ o
(1 . {(2). 2 ' - (3 3 5] 4. -




| NMMS(E)  NMMS(E)

The . @ )
mr. @2 ®»3 Cwya

SPACE FOR ROUGH WORK. -
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Part II SCHOLASTIC APTITUDE TEST

Time : 90 Misutes T e Marks 90'
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Subj ect Questwn No and Marks allotted
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SR ; PHYSICS : & o o ) - 98 Bis the a,ngie between thetwo plane mmors attached as ;
91.  Alightray reflected as plane surface and angle of reflection is 70°, which of the following = - shown in the figure. If the system forms 3i 1mages then. .
<o not répresertt the same? (NN' is normal to the plane surfice) O : “ - thevalue of 0 is e : i
o : . : S - : A1) 1200 : . (2) 96°
(3y 40° LT LAY 1800

’ 9 In a-house. everyday they are usmg $ix, __IOOW bulbs f for 3 hours_ ﬁve 6_(}W bulbs for o
6hours ﬁve 40W bulbs forZ_ ours; Iqthe r.nanth of i _

94, The mtensrcy of the sound IOUO tlmes more powerful than that total sﬂence is .
Coe 1) 1000 B (@) 3dB (3] SQdB __(4) 30 dB_

. '_'9_5-.:”_"_Wh1chofth foliowzngwcglied 5 B N e
"-_(1) Udo meter s .(2): _Piuvmmeter (3) Ombrometer _

(4) AEI the a‘beve

96 GRE = R R
Comse (3) 0. (4) 68
9T xlN ;_yi'_ K[s’-'_-,:. NJL - _.:: R R F N :
B R R (3) 3(mf
A, Baretwo bar magnetsasshown in theﬁgure Let{x y} (K L) arethe edges of thepoles-' .
respectively. Then which f the following is true? = . :
(1) yandKattracteach ottier R 3] yandLrepel each D‘Ehel

3) xand K»attract each other " {4) xand Lattract each other -

L 20-C
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CHEMISTR‘Y S PR s R 108. In the process of elestroplating the result i$
T H L a) - Concentration of electrolyte unchange
103, nghlymelhablemetal amongthe glvenmetalq Coal SIS - ! _ b}  Mass of the anode decreases .~
(1) Tron (2) Zine - (3) Gold .. {4)* Copper "~ ¢} +Mass of the cathode decreases
T S T R ) Concentration of electrolyte decreases . ca
_. 104 Matchthefoﬂowmg L e . (y agb @) b B a&:c ST CO Ly

. 109 thch of the foilowmg amd ES not hazardcuus o drmk
ok l) Concenﬁrated N

mi{_e'd_'aiﬁ’éﬁgé'm_enf o

. .11u'c:" fii=b iv-a
- of monomers)- <. -

ii d 111 & 1v i}

duﬁto reactmu of. SR

.. : (l) ()Xygen()nl'- : b : (2) O ygeuanﬁmQISture SRR S
T3y oxygeny carbond" x1de andmmsmre (4) oxygen hyche ' 'n_andm ls’rurc e

113 Whlch ofthe follo___ ng 1s Fzre extmgmsher” : ‘ Gl
S OalicAgid e () chPersmphate
D : i 3)- AmmomumHydromde G A AiumuuumHydroxtde
' {3}'Gasoime (4) LPG_ T S ——
2. ! 23.¢
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'.BiOLOGY-'

114. Instmment used to measure wind speed and directmn SR :
(2) - Ram Gauge (3) Anemometer {(4)  Periscope

{1) . Thermometer

115, Whnchofthebelowmamaiehalmone‘? : _ R NP IRt o
: SEIT (2) Progestemn _ (__3)._. Adreﬂali_ng' " (%) Testosterene . -

NMMSE)

: 127 _A nght angled tnangle has afl HS %1des are: m f

12 f,:._(}lobai gram
{1y, "Wheat

=y 0w

3} ‘Pulses o (4) .-Rlce “

. Root nadules of legummosae famﬂy plants conta1ns an argamsm C

alled
1lhum-" (3) Rliizobiim

(4) Ciostndlum o

- '-Calcmmhydrom ;
"Sodaum chlonde
1)~ Acenc deid g

- Sodmmbwarbonate

s 1_31'_._:1'?1;6@&_915,'91?. {1{—5}(1—1 1=

e

* MATHEMATICS

126. If the mear ofa, b, clsMand ab+hetea= 0 Then meanof a?,b* c2 :s.-
(1) 4M: (@) sME
(3) Ml N (4) M2

nmeter of the trlangle ificms. is

3

@1 @ (3)—"'1“ G %

25-€
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132. Theleast number which when divided by 16 18,21 leaves remainders 3, 5and 8 is

S140, I A= x% ofy and B=y% of x then which of the followmg is truer’

(1y 1008 @) 995 (3) 1021 (4) 990
» ' - (U A<B ) AR
133. The mean of 5 numbers is 27. If ope more number is. mcluded then ihe mean is 25 The - (3) -A=B IR 4 : o
in&:ludednumber is _ o RN (4) “Ifx<ythenA=B
(1) 15 (2) 57 ,(3) 52 (4) 17 141 Fromthcadjacentﬁguxeareaofshadedregmms _14cmi P

e . : — T L (1) 42 cm? _
,___-134_:;f(4x+5) (3x+11)-"13 17 thenx— o S RERUERS B SR @) 196 ¢z
" @) 122 (3) 2 (4) R LR _.ﬁﬁ(3)_.‘:"_ om0

._1.35. ESonu S father zs thnc ;'.as old as Sonu After 12 years he wﬂ} be ju '_ twwe 1’115 daughtez"': = 4
EE __'Ehen the Sonu g present age1s (years) 3 . . o
U 10 E (z) 12 (3)

36 A rectangular lawn s 30 mby 20 m. Tt has w6 roads v
L 2w emnmng mthe midd of 1t as shownm the

_9}1‘23’1 th'-- £l :
L2} o SR

W N Yo 1__ o {3) _1 - (4) - ;

138y ’I‘hreenumbers are mthe ra’m:vl 2:3. The _sumof their cubesw98’784 Then‘the numbers are i
& '(1) 12,724,360 - @y 14 28, 42 : e
.:{3) 16 32 48 (4) 13 26 39

139 Aboyhas 3 boxes of d1fferent frults Box ‘A’ welghts 2‘1’2 kg more than box ‘B’ and box "’C’ : )
C U weights: 1(}1/4 kg more than ‘aox B: The total we1ght of thc boxes is 483/4 kg Then the

_we1ghtofbox‘A’1s R ;
1y 17k DR -(2) -22‘/4-kgj B
oy wnke @)y ke

. 26" C o ¢
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o  HISTORY

146. ‘Zabt’ was not possib_le; in tﬁes'c "prov_i_nce;s:
. (1) Gujarat only e
(3} Both Gujarat and Bengal
147. Underwhu:h settlement was avery plece of 1and. gwen a
~0f that as ﬁxed’? e

(2) DBengalonly
(4} None of thesc

(2) Permanent settlement

NMMSE)

survey number and Legal ownership -

| ‘GEOGRAPHY7:
15 6. In Wthh of the follow ng set . o . ' s
. theu gationt ing sets, are the places arranged from south o north w1th reference L

49} -Nigeria, France, Arctlc Tundra

(2) ArctlcTundra Fra
+(3) France, ngefla,Amtlc Tundra s France nge”a’

(4) Ara,tlcTundra ngena France

o 157 MQSt of the forests ofAndhra Pradeah fdlf m thls Category: j T

(3).*' ngah Sm‘a (4) PavulunMauana ST

155, The iastMughalEmperorwas '_ : ;f
495 ‘Autangzeb {2) IahandarShah/afar

(m M@mmmﬁﬁﬁﬁm (@ B&Mwﬂwﬁﬁm

?zs-c_

comber 22

29:C
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o POLiTICAL SCIENCE

:

- 166..Which of the foilowmg sentenccs is correct? & .
(1)’ Baitisnota right of the accused

{2y, FIRis filedin the court

A3y -.-'The pehce is not part of. Judmmry
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ECONOMICS

176. For how mdny hours does a paper mill run in a day?
{1} 8 @ 12 BN R ‘ (4) 24

al: cases are. P by

_177 E;I;:der the following stdtements and selcct the correct answer using. the code gwen
. A) - Publi¢ Transport can help in reducmg pollutzon
CB) Useof helmets and seat belts can avoid many life risks. .
oy OnlyAs. correct :
: (__2) Only Bi is corrﬂct _
_(-3) . BcthA and: Bare correct
: 'Ne1ther A nor Bi 1s correcf .

; :hundre_d mpec note wrth her She %aw a prormse on: that note: whtch says
carer the' m}m of hundred mpees” Who Slgns that pramzse"

. 1 79 thch of he followmg _13 the most 1mp0rtan£ contnbumr to poverty in Indla'?;

(2) Lack of reguiar employment

(1) Lazines sof thepeople
S A G1vmg 1mp0rtance to agﬂCuimre ;

(3) “Mal numtlon

; ; eghalayal _
(2) Uttar Prade:sh has é. ia,rger'populatlon whﬁe Me ghalaya has a smallcr populatmn

{3Y Uttar Pmdesh is4 dﬁ:ve
(4) There ignot any spemﬁc TEason. for thls

3@C E

_ '_"1 80 Wh1ch constltutzonal amcle mentl(ms about ‘nght to Work"?

Ioped Tegion ‘while Meghaiaya isa backward regmn - S

(1) 41 ‘ (2) o T3y w17

opmn

31-C
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ENGLISH |
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NMMS NOVEMBER 2018

:__';ax.'Marks 9(]"

"P[ease wrlte your Centre Code No and R No .5 Very clearly (only OHE dngt in ong hlock) :
| “onithe OMR Sheet ag gived in your adm1ssmn card. Please see thatno block is left unfilled
. and even Zeros appearing in the Centre Code No, are correctly fransferred to the appropriate - -
~blocks on- the OMR Sheet as shown in the example given in the OME Sheet, Forall'.
: "’subsequent purposes your Centre Cude No and Roll No. shalf remaln the same as gwen
- onthe dm1ss1on Card, ' : - . '

. THe e.st'ls in TWO Parts Part I cansmts ef 99 questwns and Part II also conszsts ef
90 questions. . _ , :

- All quesuons in Part—I and Part—II carry one mark each

Smce al] ques ons are compuisory, do not try to reaci through the whole questzon papel
before begmmng to answer it. .

Begin with the first questzon and keep trying one c;uestion after anather till you f‘misii bofh .

the Parts.

Contd...




.NMM.S(E_}'_ - - S

6. 'youdonotknow the answer to any question, do not spend much time on it and péss onto 4

next one, If time permits, you can comg back to the questions which you have ieﬁ out in
the first instance and try them again. :

7. Since the time allotted to the two parts of this questlon paper is very fimiled, you shoulg
make the best use of it by not. spendmg too much time on any questlon

8 - A blank page is prov1ded for rough work at the end of each part
9. Remember, you havc te shade answers ona separate OMR sh t prov1ded -

16

cle havmg the ‘number

- 1L Nowtumto the nextpagc andstart answermg the questmns E e

 NMMS(E)

T Dlrectmns Ql_mstmns (1 .0 19} _
“In each of the '-foHowmg quesﬁons there are & certam relatmnshtp between two glven word‘; en.

the ones. gwen for- the:

12.. Af’ter the exammauon you should hand ovcr the OMR Sheetto the Invzgﬂator af the room i.

5 :_.'.'Mlikonatre Wealth (remus g

9L House : Masor : Fumlture g

Part - I : VKENTAL ABILI’IY 1EST
I‘;me 90 Mmutes . ‘ . T : .' e _' \/Eax ’Vlarks 96
Note : SHADE the correct alternatives in the OMR Angwer Sheet provuied from dmongst the

.ones glven agdmst the correspondmg questlons inthe Questlon Papex Bookle For shadmg
lhe clrck,s, u%e a HB Pencll ; : -

(2) Puméhmeut

. .(U .LWW ¢ Doctor . -

. (1) Cap"lbxhty L S_mamleés (3) Intelligence - - (4)  Awareness

@) Buldhg @) Ty
"'-(2)- -Kité. s By Bird () cAeroplane o

() Acher () Bow ) T @) C

(1) Wood <2> Chawr  (3) Tl (4 Capenior

' 10. NecdiéiThﬁeﬁd Pen

(1) " Write (2) rnk'."' = {3 Cap S @y 'Péﬁé{ :
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: NMMSEZE)

Directions: Questmns (11 to 20):

In these questions a figure (X} is given with three parts and four(h w1th a ?mark. Fmd the qu.rth
~ part from the adjacent ﬁgures to' complete the figure. .

R R e R
R - R I
G 3 w4

1. K

Lot
: 28]
h—_
e

O e
: _- 2 U@ iy A

14,

S @ e - oL @2 e -'{4) A
T .{'2)' 2 (3) 3 o e @ -4 | "Dtrectlons Questmns (21 to 30): . PRI
= : - T - IR I Ineackiof the foliowmg questions there are4 ﬁgures Three offhemare smularmacertamway

5. : © 'but one:is not like the other three Find- out, WhIGh one of the ﬁgures d1fferent from other .

o e e e = E E
@) 2 _ G) 3 @) 4 R - RO EENONENOE

w1 @ 2. N
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i

©)

' "--"( )ﬂ (2)

o .

@ ¢

. _.,..25_.

P

____,_;:_{.]_.)___l_:

,_(3)' (4) G

2. [
@y

.ii-

AN
1O+
:: K

_i_

ar t _>_
(1) 1

@ 2 il

= AIX O =
, SO
A S x50t __h;__A 3

(%} Sy

G

ERONENC R

ay

@ 2 "

@)

RS

NMMS(E) |

28.

@ x|x ole olo x

X Of® X|X X[X @

e 2) Gy @ -
(1) 1 @ 2 G3 @

29,

T

230, T

(3)
@ 70

(1)~1-45  {2)234' (3}134':' (4)235'

%P u_:

(3) L (5)

(1)1455-' {2)135 | (3)235 - (4)'234

"&m ‘

@ e SO

(1) .1,3,4 @ L2.4 3) 2,3,4 T @ 34,50

7D -

| . (3)3(4)4 e
."':'Dxr@ctmns Queshans (31 to 400 R IR

o _' 4 Select fmm th'e gl._ o1t 5 aItemanve.s when ﬁlled mto each other would form a com iete square;_ L :
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0W<Q

o
1y L,2;2

3) (4
(2) 2,3,5 (3) 2,4,5

(5

35 o

-' 4..(_}_). _._:_‘1,:4?.5. &

@ 14,5

@ A3 @ 24s

L e

38

(W L23

SO ane 3 345

.'.(.2-}.' 1 2 4 .. L (3) 1 2 5:,

39 .

(1) L2,5

o), T2y

@ @
2) 1,23 (3 2,3,5

NMMS(E}

VAR

(1)

(1) 123

(3)

@) 134

ﬁmr\u

.()-

(.3')'- 1,.‘_3', 5

~(4) 1,4';‘55

S acertamwlatlons iT

Sl Du‘ections Questmns (41 te 50) S S e : o e
I '__In each of the followmg questmns thc second fzgurc in the ﬁrst umt of the problemﬁgure bears- e
to'the first fignre. Sitnilarly one the s answerfi
. to'the first figlire of second unit of: problem ﬁgures you have'to therefo ;
L whlch would ﬁt th,e questzon mark S :

.(1} : .1

42 Probiem F lgures

i . S

8.D
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- 43 . Probiem Figores _ _
Jamo| &) |zoal v

@ ®  ©. o
Answer Figures S ]

T R R o) R I
© 44, Problem Figures.

X (3) 5 7‘@)_’ e

45.  Problem Fignres

@ ®m o o

T o 6w

BRG] 4 .

w1 @ 3

T

: ;ggc{MS_’(E). : _

46. Problem Figures -

slivlicin

(A (B © O
Answer Figures . '

- oo

e o Ci) (2) e @

AT ProblemPigmes oL

SO 300

N

48§ Problem Figures - .

i1 AnswerFigires

¢

(:1") roo @
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. - ' SRR R Sl s400512,23,50,141, _7 . .
: - o o (1) 415 () 430 3y 439 (4) 488
,(“}53 [:Ei (ﬁ)' L _ ‘ S5, 4,11,19,41,_7 161 | o
. AnswerFigures. _ R . : - o - . . 56.‘_ 9,5,86, _10.5,_23_, 2 T o ._ . C
T T RN Py § ()80 2y 65 370 )60

, <31-)' 2 '(;'3'} B @ ) e00 (2) 590 7@ S80S () 570

49,  Problem Figures

P L e sy e, 6L D454 7 R
y ro- (2) 2 o Brs e @ 43:”..:- B ST € ) S ) G (2) BRI LR E DR C) B ) W

50 Probleszgures '_ :_- . . A : .: :.';. - . . ...5-9..._10 5 5 10 40 o ST B e T

T e L

128 63‘5
(2) 24

s

i T L e L T EAREy _ :Dlrectmn_, Questions {61 to70) S A T
S D M 0 T R P e D T " a0 In thess questions, there are equanons thathave become wrong due o mconectorécrofsxgns'
e L Lo AR R A NI Y o Fromthefourdltematwes gwenbelow ﬁndoutthecorrectorderofszgns Sothattheequatzons' SR

o o @ |

i R S I BRI TR P 6L.56 7+2ﬁ15 ‘ SR : T

M 1 2. 93 - - W+ o (1) 4%+ @) Shx G mxE () e
Dircctmns Questmns (51 to 60) g B . ' S : ; ' T
- I the number. series given below, one mlmber is mlssmg Each series is foilowed by four : _ T
altematwes (1) (2) (3}, (4) Oneof them 15 the nght answer: Indxcate itas per the instructions, e (1) I
'_,64ﬁ~210-L154ﬁ15-15 ;f' e T e
: (}-) + = X = . (2) +: =5 . S (3) 7:‘ X_a'x o (4) :"X?— . .

6;:34x2:17+34'

515'380 188,92, "?_ , 20, g 2 R Ay SN
: (1) 80 j- (2) 50 Rl ‘(31 4. (4 2

2. 3,7, 5 5 9,3, 12,1,15 i? SR T .
@ @ e @y

53, 23,21,24,19,26,_7 ‘ - - L 65. 900=30+2%15 ST | R
' ) . . 4 . ' - . - . - 1 *, #s + o (2 T, T, X . . 3 +, X ' 4 . mx x .
ay 29 @ 2 @ 17 @ 15 . st @ SR W ane

2
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66. 729=9+9x9 _ | R 74. [27]22] 50
(1) b (2) =k (B) = (&) = N RN N |

91217 _
67. 153+ 10=2x73 : C : . .
) % ) R @) = @) =+ (I 1z . {2) 39 (3y 18 4y 24

@ s @ ke @ane

- (1) =, + %,

_ "'_(1) 25 ot (2) a7 '. iy st @41

w3 ey was
LTI ) O I R _ . .
Cowmem o oyess o gy sy
190 [ax|@nlez]l . o T
TR R
- 162 (18).99 ' R e e
-'(1) (2) Ly ee e @y S0
SN 209/»\
P00 205 2f 17 : 4
(1) 68 (2 93 3 175 . @y 217

15D
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{2) . 420.03 (3)

| ";NMMS(E)

Directiens: Questions (81 to 90):

- The following questions are based on simple arithmetic calculations. There are four diternatlves _ .
. .givenunder each question. After 1dent1fyzng the right answer, indicate i as per instructions,

81. 99999 -+ 9999 + 999 + 99 = ? _
(1) 11096 () 111096 @)

111196

'32..77s+54 214—i28+174_‘?
Cy 705 :

(4)- 110096 '

B3I L 417 27118 =
| _,:_'.(1) 16441

__ £3). (

By 17450

@ e

(2) 595

e (3) 148

1583

' -(4) 410.3 ) .

(1) 381.003

J . -89._ _'.9;Z+.8-,=._: o

W 28 | '(é)j':#_IS._f.z .' )

we

'_90.'_:0009x0002~9
B ‘:(1) 018 B

(2) 000018 s ..(3')'_

0.0018:-

(4) - 0.000018 .

16-0

NMMS(E) |

_ SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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Part H SCHQLASTE@ APTITUDE TEST
Time : 90 Mmutes N o o S IR Max Marks 9[)

Note :

o) Sub]ect Questmn\lo a.nd Marks allotted -

. T Chcsztry 7 2 '_I-Q3,'.t0‘;l-_13' B 11 S
e :-;Blology ': 11“0125 i
Tiswis,

'Mai'hematms sl

; BookEet 'For shadmg the cirdés, use a HB Pencil; '_ -

9.1
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9l.

0.

PHYSICS

The reason for hot air moves to upward direction hecause 1t
(1} . Oceupies larger place, density increases

(2) Occupies smalier place, density i ncreases

(3) . Occupies largerplace, density reduce

(4)  Occupies smaller place, density reduce

99, .Which of the following éys;tem gives TN as resultant foree‘?

94,

.95

96,

98..

The intensity of the sound 1009 times. more powerful than that total silence i s '
(1) - 1000 dB - (2) “3dB (3 60 dB (4) 30 dB
93, thch of the followmg is ce,l[ed a3 “rain gauge”" : Lo
L1} Ude.nister - (2) Pluvmmcter : (3) Ombrometer {_4} ".iAllthe_abO\'fe-
_'68°F— o oc Ll : : . ':. ]
(e 36 e (2) 0 S _.'"_(3_)- 2000 ",(_4') 68
_xm s KLS N]L B e
B A B are twe barmagnets as shown in the ﬁgure Let (x, y), (K L)are the edges of the poles
L respectwely Then whlch ofthe foilof g-i8, el
9 is the angie between the o plane I‘ﬂIZTOI’S attached Sy
L shorwn in the fi; Ure. If the system forms 3 1mages then SITn
. 97 ' @ Hou iy they are usmg SIX; IOOW hulbs for 3 ﬁours five 6OW buibs for-. S
T 6hours ﬁve40WbuI bs for2 hoirs, Inthe Thetith’ ofAugust and September let they tised in
.the same way. What is the dlfferenee in umts consumed by them in these two months )
C(Drzo e 2y 000 (3} 124 - (4) 4 -

thch of ths foIlomng graph doesn t mdmate the relatlon of tlme (t) and d1stanee{s)

( }. B e ) 0 T {7
0 "Time - " _ 0

0.D ’

NMMS(E)

SN

o L 2N al
L X SR

s I S o .
' e 3N

1

3) ET

3 iOO An obji et movmg in.2 circular path and covered 3/4th distancéon the et tmeter of the path

to reach from A‘and B. Ifr’ is radius’ of the circular: path; then fhe ratio between d1s€ance 48
' travelled and dxsplacement by the obj ect betweenA and B is: -_ G P :

(1) 2-\/" 27+ 3 (2)” 3f 27;.

(3) 3\/_ 2 2(

102 When a glass rod is rubbed w1th a stlk eloth then charges deposﬁed on them respectlvely: o
- as follows: " e
s Poégttve charge on sﬂk negatlve charge ot glass rod L
2 “Ne gatwe charge on Ik-'posztwe charge on. glass rod o
L (3) Positive chaxge arpboth: - o : :
- f(4) Negaﬂve eharge on both DI

-0
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.CH’EMISTRY R R AR 109. Match the following: L ~ o
o . DU - R ' ; SetA - | | SetB
. 103. Choose the incorrect s_tatelllent" o P R R l i) Burningof camphor - a) . Physical change
(1) PET énd HDPE are comrnonlylecycled c . . B ; " i) Heating of sugar solution upto formation of a sohd' h) Galyanisation
(2) PS(code 6); used for making coffec cups, egg boxes etc I iii) Evaporation of camphor placed onaopentray .~ - - ¢)" Crystallisation
(3 Samtaxydupﬁrs ancibandagesaremade ofNonn S S .4 . . i) Depositing of one metal on anothermetal - -5 - d) --.Ch.??‘_i?a?;d_‘:aﬂg.ﬂ
@) 'Flremenweardresm made.ofmelarmnefabnc T e P o Co) i-ddiea o Tiveb S e
e e : (2) i=d .  fiec cdi-a 1vb _
C@)oi-do o dice B dvea
=j'(f§-i--. -i"—.;_c'--_: '-;_ii- d _iii--a Jivab

(Cross-lznked drrangement
of monomers)

B 113 ‘Matchthefoltowmg : B B I A S
i) - Rapidcombustion . a) Bumingof crackers’ -
i) -'_Spontaneous combustmn ' ) -Bummgofwood
) Bxplosion T U7 ¢) . Buming of camphor” poat
iv) Combustmn S T dy :.Bummgofwhnephosphorous_:':
Cfied e iveboo s : L
feae dfi-B T ivedl
Codlebdfiecoived
CHibeliiea o iv-d

1(}8 When Magnesmm Urg m"the presence of Oxygen it forms Magnesmm Ox1d,e in the L

form Dfpowderash Whemtdlssolved mwater aNewsubstancezsfﬂrmed Whansthe ERE: - R ——— oSS
: namreofthmsubstance? BE _ A | T AR R S e T

(z) Ac1d1c (z) Basic (3) Neutral _ (.4) Can’tcon_ﬁrm -

23-D
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BIOLOGY
~114. Who mvented antibiotic tetracychne‘? N F T
' {1} - Dr.Jonas:Salk AU (2) - Dt Yellapragada Subba Rao
(3) Dr Alexander Flemmmg : (4) D_r. Edward Jenner'
© 115, Prof. J. K- Kusian is popularly knowrias 0. ool ' e
), Father of Green revolunon e 2y F ather of Whlte revolutmn R

i (3) Father of Blue revolu i6

ST Father of Bmlogy

126.

 NMMS(E)

The least number which when d1v1ded by 16, 18,21 leaves remamders 3,5a0d 81 is -
(3) 1021

(1y 1008

'_ MnTHEM;&TIC §

(2) 995

ci{d) 990

o

1s 27 Ef oné more number is zncluded then the mean 1s 25 The S

oo PargsIL - :
-.Calcaumhydromde
- Sodiiim: chloride

ﬁ'-_AcetLe agids

- 1__24.'__1nstmmeﬁtused tomeasure md‘speed an_ddnectzon BRIt
(1) - Thermometer-: (2) Rain Gange- ) Anemometer (4)" Periscope

125, Which of the below i isa male harmione?

(1) Estrogen ' (2) = Progesteron : 3) Adrenaline : (.4.)' .Test_ostefone__

24D o

1y 12ke

(3) 34Vake

Oil[a, kg more_ than box B ’E‘he total welg
weight. ofbox ‘Ais”

(2) 22'/4kg :

@) i4akg




NMMS(E)

134, IfA=x%ofyand B= y% ofx then which of the following is true?
() A<B . () A>B
3 A=B L “ Ifx<ythenA>B

'NMMS(E)

135. Fromi the adiacent ﬁgure ares of shaded region is ldem
) e '
L (2) 196cm2 R
(@) 1s4em? DR 4.

(4 .350 eim? o e T e .A i4cm B )

- 142, The value of

136, Twe natural numbers are such that thelr product sum and dtfference are in the ratlo 24 7 I:
T The product of the two numbers is : :

S (2)24
12 R

1-37z '

) e 321780
2) T3S0

@) % 3'9'3250_
C (4T 3500

141. A right angled triangle has all its sides are zntersects and its area is 30 sg.cm. then the

pemmeterof the tr1angle i ems, is BT
() 36 U@y 420 (3) 64 (,4) 45

i =l

n+l '2n _.

2 .-If s+l xn2] x+101henx b

._.cl) --:(2-).:;-1-» ey e

. _14_0.'.1fthe meat ofa,b c1sMand ab+bc+ca 0 ”l“he:nmeemofat2 b2 (:2 s
W oae @ sME E
@ 3 @M

36-D
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NMMA(E)

| ' HISTORY
146. The last Mughat Emperor was . - ] ‘ ,
(1) Auranggeb (2) Jahandar Shah Zafar
" (3)- Muhammad Shah Zafar - (4 Bahadur Shah Zafar .

147, “Zabt was notposs1ble mtheseprovmces )
(1) Gujaratonly - : - (2)‘ Bengaionly L
(3} - Both Guiaratand Bengal . (4)- Nong of these R,

L 148, ;,Under whlch settiement was every p;ece of land gwen a survey number and legal ownershrp - '
- vofthatvias fixed? | ; .
Ly Ryotwarl settiement

< (3) " Bothof ihese setlemets
' 1:4__9. 'The Flrst World War Iy ¢ ke out: 1r1

L (_2)
{_4)

Perma.nent sertiemont
None of these :

e

1530900 Syou have a broad and beautrful street full of ﬁne houses . and these houses belong-
o merchants an(i there you ﬂnd all sorts of rubies and dLamonds and clothes of every
- sortonthe earth... .inthe evening you hiave a fair where they sell horses, frults Vegetables o
7 wood ete” - Whose descnpnon was this. abou’t Vijayanagara C1ty‘? et '
LY Numz R (2) Paes . (3) -Abdul Razzak - (4) Nwolo Cont;

_ 1_54_-.- 'thch of the folIowmg was the dmswn of share n proﬁts between Ja ames Watt a.nd Boulton'?; B

T :
t0; Boulton (2) to watt and to Boulton

to Watt and

"(1)

;.(3) to Boulton and 3 16 watt to Boulton end towatt

HOR

Who among the followmg was notone of tHe ‘Astads £ga as"? '
{1y _R_a,mar_a!_] aBhushana (2} Ayyalaraju Ramabhadrudu
(3)  Pingali Surana (4) Pavuluri Mallana

<

28D

‘.'_E_ISS;LA]umlnum is extracred:fmm o

' __.(1) Baumte

NMMS(E) |
GEOGRAFHY
" 156. Most of the forests of Andhra Pradesh fall in this category: ]
(1) Deciduous forests - {2) Thorny forests .
.(3) ..Bvergreen forests (4) Mangrov,e forests o
* 157‘..'IheSunnever sets m’[‘undra reglonthrough out: ' SR
G February March andApni (2)'_ 'May, Iune an(i]”uly :
3y _ A_ugl._rSf, Sept'e rand October November December cmd I anuary

()

(2) Mica -'-':(3) '_ ;

(1) Libena

N 1'63.

If the average annual rainfall is 116 cen‘ameters, then 1t wﬂl be eonmdered as:

{1y March21

'(2')' Seprember 23 (3) Tane 2L (4). Degember 22

I which of the followmg sets are the places arranged from south to north wsth reffereﬁce..' '
; to; thelr locatlon? ' HET -

(2) Arct[c’fundra France,\hgerla, : .
(4) Aretrc Fundra Nrgerm Fra,nce

(1) Nrgena Fra.nce Arctic Tundra
(3) France Nzgena AICTZIC Tundia

- 2;9""@




'NMMS(E)
POLITICAL SCIENCE

166. Which of the following states does not have a bicameral legislature?
(1} Andhra Pradesh (2) " Télangana (3) Maharastra, (4)' Kerala.”

167. During national emergency, the term, of Leglslauve Assembly of a state can be. exiended by
- ( 1) 3 months ‘ (2) 6 months : (3) 9 momhs {4) 12 momhs

| -_16.8-". he fi

AL N ! _ééé_riibéﬁ'g_s'.__.'__;(:'3-)'2_. Jenuary 25

A7t

T

| jNMMS(E}b

: .(1) i Uttdr Pmdeqh is a plam 1eg10n Whﬂe Meghalaya isa moumamous region.: -
-{2) Uttar Pradesh has @ iarger pc»puiatlon whlle Meghalaya has a smal[er populauon '

174 Whi

af(2) Fnazéfﬂ'edmzhééourt'fj ':”'-ff'
@) “The pohce isnot pait of ]udlcmry _ SR
e (4} All the ¢ivii and cmnznal cases are taken, up by the pohce

" E CONOMICS
176. Which constitutional amcle mentions about ‘Right to Work’?
4 2y .21 (3) 19 NG RRY
177, For how many hours does a paper mill ruz in a day'? _ T '
(13 8 212 .5 (3) 16 (4) 24
178, "Consider the followmg statements and select the correct answer ﬁsiﬁg the code given o
‘below. S R

S _A) " Public Transport can help in reducmg pol[utzcn
B) - Useof helmets and seat belts can avmd many life r;!sks
(1) OnIyA is correct : :

B (2).. Only Biis correct

' .=3'BothAand_Bare corect
n IB is correct R

: _:huudred rupee note: w1th her She S&W 4. promzse 0%1 that note wh,zch says o
ise to pay ‘the bearer the sumof hundredrapees” Who mgns that prormse’? '
© (1) The Finance Minister, of Indm o R
~(2) - The Presuient of India: _
- (-3) ~The Governior of Reserve Bank of Ind1a
) -Chau;man sof Nauonai Banks "

' 180 Which of the followirg isthe most 1mportant contnbutor t{) poverty in Incha‘?

(1) Laziness of the people (2)  Lack of regular empioyment

) szmg 1mportance to agnculture

175. A law makmg 1t compulsory t{} gwe offzclal 1nforxnat10n Was. made for the ﬁrst tune in ‘thc

~ state oft

(1) Ra}as.tl_lan . (2) Gujarat B (3) Tannlnadu (4) And}n'a Pz_a_desh,

30-1¥

-+

(3)' Mal nutrition -

4
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